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2. (irﬁ%} The hollow tluhe rotates with a constant angular velocity w, about a horizontal axis
through end 3. At tn?m t = Bythe tube passes the vertical position & = 0, at which instant the
small ball of mass m is released with » essentially zero. Determine # as & function of 9.

3, (25%) A uniform disk of radius » = 250 mm is attached at A to a 650 mm rod AB of
negligible mass which can rotate freely in a vertical plane about 8. If the rod is displaced 2°
from the position shown and released, determine the magnitude of the maximum velocity of
point 4, assuming that the disk

a. is free to rotate in a bearing at A, (12%)
b, 15 tiveted to the rod at A. {1334}
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4. (25%) By pressing down with the finger at B, a thin ting having a mass mt is given an initial
velocity v, and a backspin o; when the finger is released. If the coefficient of friction
between the table and the ring is g, determine the distance the ring travels forward before
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